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Thoer rad -
v Too)
0.32(50 - 20) (2 sides)
N
4 _ %) = (5.669 X 107)(0.8)(0.3%)(323* - 293%) (2 sides)
T

N+287TW=53W
1d radiation are about the same magnitude.

Yl o 03 ..!'_'l,T -y
T3k
b ol
= =g, E
Rajum = 1 (204) 752 %10
_ 30805 _ =7.958
Rins = 47(0.05)
R, 1 1 5
= oe— — 9
" hA T (20)(47)(0.05)2 2
_ 100 - 10
q= —=041W

0.00975 + 7.958 +1.592
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VoA oped The Equations: -
A B
1 [Tl= =(1100+B3+B4)/4
2 [T2=  |=(600+B3+B4)/4
3 |T3= =(900+B1+B2)/4
4 |T4= =(800+B1+B2)/4
The Solution:
A B
1 |TI= | 4875
2 |T2= 362.5
3 |T3= | 437.5
4 |T4= | 412.5
LA T = 00+10 3500308 -
2
B= L —325%107 = GrPr= (0.8)3.25x10" )(62_10)43 x0.7=2.62x10""
T, (16.5%10°)
Nu=0.10(2.62x10"")" =639.9=h = (639'9)(2‘02685 ) 4205
q=(4.295)(4x10)(60—10) = 8590.65w
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Yo miform T =T, at r= R steady state, T varies only with r.

2 2
1 o°T 10T
! [ZT)+ : (Slnﬂa—Tj 5 o +q Sy
or 2 sin@ 96 00) r’sin’806> k a ot
s reduces to:
YoT) ¢ 2(rT) —gr _ —gr® ¢y
+==0 = Integrating T = o=
Kk a  k BEIE T ek T 1T
wndary conditions: g = R> = —k4nR2£l
3 dr r=R
dar _ _gqr
= 2 T=T,6 at r=R
dr 3k @) -
2
} ﬁ = () then Lln—T -I—qR (;'-2=D
dr r=R 61(
q p2 2
—-T,=——(R"—r
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